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[112]
g ug - H{ / SECTION - A

aﬁﬁm U / Objective Type Questions

7T wEar 19 somé@ﬁwmﬁlﬁﬁ#&aﬁmwﬁmm#e‘/
T W & W AR fwey iy g § Rt @ v wE 81 o g g
Y &l [T F OMR e ur R w¥ | 40 x 1 =40

Question Nos. 1 to 80 are of objective type. Answer any 49 questions. Each

question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet.

40 x1=40

i Wﬁww‘w%léaﬁww%?

B (B) 2
e
€ 3 D) 4

The atomic number of potassium is 19. What is the valency ?

‘1- 103-(24/30) Page S of 48
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2. UHAH G G RME 7

(A)  CpHoy, B)  CuHanso
(C)  CyHanog ) W
What is the general formula of an alkane ?
A) CyH,, -(B)  ChHapso
(€)  CpHgp o . (D)  None of these
3. TN Sl QH] G e 2
@A) 9 . B 19
© 29 ‘ D) 39
What is the étomic number of fluorine 'P
(@) 9 | (B) 19

C) 29 | (D) 39

4. I oA Tt fotem® St e HX ST 8| 36 faerET ® pH A g

a7 (B) 74 HH
/ :
(C) 79HH D) M § HIE Tl
o 1103-(24/30) Page 6 of 48
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[112]

A solution turns red litmus into blue. The pH value of this solution

would be
(A) 7 ' (B) more than 7
(C) lessthan? (D)  none of these

SerelierT T KA AR M 2

A 8 i ® 12
(€) 16 o (D) 18
What is the atomic weight of oxygen '>

@ 8 - B) 12
Cc) 16 (D) 18

'a‘mgﬁmﬁﬁﬁ@mmwm%?

(A/) Hg »(B) Fe
© Al D) 2Zn

Bauxite is an ore of which of the following metals ?
(A) Hg » (B) Fe

c) Al D) Zn

[1103-(24/30) | Page 7 of 48
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wqaﬁﬁf;ﬁamﬂﬁmemaﬁw%
(A) Na > Zn > Mg > Cu (B) Na>Mg>Cu>Zn
(CJ Mg<Na<ZIl<Cu (D) Na)Mg>Zn>Cu

~

<

The correct order of reactivity of metals is
(A) Na>Zn>Mg> Cu (B) Na>Mg>Cu>Zn

(C) Mg<DNa<2Zn<Cu (D) Na>Mg>Z2n>Cu

Fe,0, + 2A1 - AL,O, + 2Fe Fifetiad # & "R Y i ST & 2
(A)  HISH | B) faueq
©  forem o) fafsreme

Fe,0, + 2Al — AL,O; + 2Fe is which of the following types of

reaction ?
(A) - Combination (B) Decomposition
(C) Displacement (D) Double dispiacement
1 103—(24/31‘ Page 8 of 48
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11.

 forfefian § @ fre s g PR @A E 2

[ 12

(&)  Fche | B TS T @

© S E ' (D) Eﬂﬁ@ﬁ'@ﬂff

The pores of the stomata are surrounded by which of the following ?
(A)  Cuticle (B)  Guard cells

(C)  Lenticels (D)  None of these
EIECIRICECRE] M ¥ Bt e ?

A) O, v : ®B) SO,

(C) NO, ‘ D) Co,

Which gas is liberated during respiration ?

&) O, | (B) SO,

(© Mo, D Co,

.ﬁﬂﬁ@m%naﬁw.mmwaammm

e & ?
(a) BQ B) el
(©) g (D) A

1103.F.528/528(86) , |1 103-(24/30) Page 9 of 48




12.

13.

Which of the following colo

photosynthesis ?

(A)  Green (B) Blue

(C)  Yellow (D)  Red

T & Ut SHTRIHRT ¥ A G A€ 2
fib co, B famFe

(A)
© fak H,0 . () FHEgH

What is liberated by complete oxidation of glucose ?
(A)  Only CO, B Only energy

(C)  Only Hy,O (D)  All of these

v Bt g s 3 et & 2

(A) IR B) ST

. / 1 .
€ eI (D) T § %S 7@
What type of membrane is the cell membrane ?
(A)  Permeable (B) Imperméable
(C)  Semi-permeable (D) None of these

ur of light rays is most effectiy

'1 103 -(24/30)
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[112]
UL, (ATP) 1 forefid w0 &

W W s @) e g

© U gt D) TR T eiwEe

Full form of ATP is

(A) Adenine thymine phoéphate
(B)  Adenine triphosphate

(C) Adenosine triphosphate

(D) Adenine thymine diphosphate

= = ufly st S & e feg foeme o 3w g ¢ 2

@) AR B)  WhAH

(©) et D) AR =]

Which solution is used to test the presence of starch ?
(A) Iodine | (B) Safranin

(C)  Eosin (D)  Methylene blue

1103-(24/30) Page 11 of 48
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17

o
' ':I_‘-:_
&

| [119
mmmﬁwmﬁﬁmmwmm%é
(A)- W%‘IUTW B/ WERRT i HET W
©) _,(A)aﬂ?(B‘)ﬂﬁ o Aﬁ@ﬁﬂﬁ
Rate of photosynthesis is depc?ﬁdenf on which factors ?
(A)  Propeities of light | (B)  The amount of light

(C)  Both (A) and (B) | (D)' ' None of these

o et P % s o e v e 2

R i S B) e

© g (D) WS

Which%faﬁe d} the following proteins is responsible for the red colow

of blood ?
(A) Heparin (B) Haemoglobin
(C)  Thrombin (D)  Fibrinogen
1103-(24/30) Page 120
4



18.

19;

20,

| [112]
aﬁﬁiﬁmaﬂ&mﬁ@w% '
(4) w0 B W
© e | D &

The colour of chlorophyll pigment is

(&) black ®  yellow
© " Eme o | D) e
31t 1 e
&) e " @ T
© T m o s

The hardest part of the teeth is

(A)  dentine (B)  enamel

(C) pulp cavity (D) canihe
ot 2l 3 EYTT A R @ ST € 2
() AR (g ERA

(€ T = D) IEHA

1103-(24/30) Page 13 of 48




By

E . in the synthesis of thyroy
Which of the following 1S necessary 1 3
hormone ?

() Chlorine (B)  lodine
() Manganese (D) Iron
5] HTHEE T IR €
( A) . THZ[ 5 (B) W
b
() M (D) =™
Which is an example of a decomposer ?
A)  Cow (B) Fungus
(C) Tiger (D) Grass
22, U W Fofl 1 T AT &
(A) T (B el
(C) T (D) ;Ié(
/ . .
Which is the main sdurce of energy on earth ?
(A)  Coal (B) Wood
(C) Water (D) Sun
1103-(24/30) Page 149
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25.

[112]

it o & i e & R & ?
(a)  TFHEH . B) SHEA '
C) weHsA o FHE gt

‘ 7
Which of the following is/are a part of environment ?
(A) Atmo}sphere (B) Hydrospheré
(C) | LithosphereA (D)  All of these

T o R o et et TR AR 2

A 1 . B 2
€ 3 D) 4

How many trophic levels are there in a forest ecosystem ?
@ 1 B) -2
© 3 D) 4

Pretfifiae o @ F S B SR BAE 7

n @ (B) e
©  Teifer (D) <&
1103-(24/30) Page 15 of 48




B |
 Which qf the folldwing is a non-renewable source of energy ?
(A)  Sun | (B) Wind
(C)  Petroleum 7 ' (D)  Flowing water
26.  SiETYH S S ol BT ARl G &
W A Pt ®
@ gl (D) ¥ ¥ FIE
The actual source of enérgy"of fossil fuel is
(A) nuclear fusion (B) sun |
(C) ~moon ' | (D)  none of these
27. ﬁwwmwmﬁ% I e I &
&) g ‘ . (B Eenl
(C) dmH* (D) THE ﬁ’i‘ EGil B
Those which ‘produce heat on combustion’ are called
(A)  engine (B)  fuel
€ hea;er' (D)  none of these
-

|1 103-(24/30) Page 16 of
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28.

29.

ZR-11 T H ©
@) 9 v @ T
© T T D) o @ I T

Euro-II is related to

(A)  air pollution (B) soil pollution

none of these

C) . water polluﬁon (D)
et wepTer @ ferAToT I FAE

@) B fgeelt @B T e
©) et o o fired
Dispersion f white light is produced bY

(A)  glass slab (B) plane mirror -

(C)  spherical mirror (D)  prism

e gt 1 e (R ff el gt e €

) e @ Gl T
o) THE I Tl

(). E R ad

T [[103-@4/s0l]
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By i %,,;_:__: S

N{ -,.
~ \\ y . 5
K o 4

B

‘ The device which directly converts solar energy into eleCtricit}

¢

known as
(A)  Daniel cell (B) | Leclanche cell
(C)  Solar cell (D)  none of these

31 Feifed A @ 9 vee e § )
(A)  NaoH (B)  Cu(OH),
(€) NH,OH (D) Mg(OH),
Which one of the following is a strorllg base 2
(A) * NaOH (B) Cu(OH),
(C) NH,OH (D) Mg(OH),
32. Wat%aﬁrwmﬁaﬁqu% ?
) co LY
©  Hy . D) H,0,

What is the chemical formula of firy ice ?

(A Co (B) CO,
€ Hy0 (D)  H,0,
— -

|1103-(24/30) | Page 18 of 45



34.

35.

mwﬁwﬁ%
(a) et
() e

Fruit-ripening hormone is
(A) ethylene

(C) gibberellin

e €
(A) e et
o o

~

Mushroom is
(A) a saprophyte

(C)  an autotroph

(B) O,
(C) O,

[112]

(B) auxin

(D)  cytokinin
(B) Th T 3
o) T I

B) & paraéite

(D) an algae.
B) O3
D) Os

Page 19 of 48
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The molecular formula of ozone is

11 03-(24/30) |

The flow of energy in 5
&) o, ~ B) O3
‘ (A) Ilnidirecticmal
C© o, (D)  Og
. (€ multidirectiona]
36. Wﬁﬂwmaﬁw—ﬁ%ﬁr% ?
38. HMY &I U vy v
(A) =S (B)  EHHS
| @ 1
(C)  TSiEr : (D) TH.§ &% T
o - . © 3
Which mode of nutriﬁon is found m fungi ? How many chambers
(A) Autofrophic _ (B) Holozoic (A) 1
' (C) Saprophytic (D) None of these (@) 3
. ’ o ] = q; _\71. E’_
37.  UIRRfaew & F ot &7 yaE @ ¥ 39.  faemEd SREFT
| ‘ @ et
(A)  UsEER ' (B) EESR =
| ' © emEed
(C)  wgleehy (D) -THIF
~
- N N e




38.

39,

[112]

The flow of energy in an ecosystem is

(A)  unidirectional (B)  bidirectional
(©) mgltidirectional D)  cyclic

o 8T ° %ﬂ# ﬁw g Wt € 7

@) -1 B) 2

©c 3 (li>/f 4

1 human heart ?

How many chambers are found 1

@ 1 ® 2

o 3 B 8 \
o i @ e e e W

(a) e @ T

(© oS o) e

il
Page 21 of 48
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E | | [ 1

' ' similar to
According to evolutional view, we are more

i " Whi
' ()  Chimpanzee (B)  Spider ’ A
|
i "

gl ©
| 40. U Y @ T A P 7 § w-a arfufrar et & 2 5
(@), et : G 42 L ER°
O IEH D)y g @
Which one of the following reactions occurs in the formation of cur (C)

from milk ?
Wt

(A)  Dissociation - (B)  Fermentation

? ' (A)

e‘"f ‘ (C) Excr;*tion (D) Photosynthesis

, (C)
41, ﬁ%ﬁ#hﬁﬁ%ﬁ%ﬁ%?
' 43. WM
(A) 39T g (B) 3T ofg @)
(C) 3T 19 T a7y ﬁv D T i ©)

Page 22 of 48
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44,

45.

[ 11

To increase the value Of the resistance, resistors should

connected in

(A)  series (B) paraﬂel
(C)  both (A) and (B) (D) ' nioie of tHesE °
foper 3geRtoT | &7 (+) &R R () 1 fee T @i @ ?
) aﬁwﬁfaﬁ | B) THXH

(© fora St o D) Feet |

Which instrument does not have a positive (+) and a negative (-

sign ?
(A) In voltmeter (B) In ammetér
(C) In electric cell (D) Incoil

T SR FRRT Y el 3907 W St @il & | el feReer g

(A) T B) FhER

Y
© R (D) FH ¥ 5 76l

|1 103-(24/30) [ ' Page 24 of 48



B

A convergin

will be

(A) diverging | - (B)
(©) parallel (D)

46. q@ﬁuwaﬁrs.l.ﬂﬁﬁ%

© o (D)
The SI unit of magnetic flux is
(A) watt (B)

(C)  weber | (D)

S [112)

¢ beam is incident on a plane mirror. The reflected beam

converging

none of these

joule

newton

47, UF Udex % Y (0 ) T 24 3B H S 20 FramT &1 THIX FW

HTHIH (least count) &1 £} ?

(A)  001A ' ‘ (B)

(C) 0-001A (D)

0-1A

2A

ll 103-(24/30) l

Page 25 of 48



eter ?
ammeter. What is the least count of the amm '

&) 001A B A |
(C)  0001A o 24 |
48, ﬂﬁ'ﬁgﬁ"ﬁ‘lw ¥, T ST Foged sy g
() W TRy ¥ afiyes (B) Wwﬁm |
O FRAEWNETR ) w0
If several resistances are parallel, their €quivalent resistance will be
(A) more than each resistance
B)  less than each resistance
(€ equal to eqqp, resistance
(D)

lone of thegea




Where is the object placed to form a magnified virtyg) ; |
l ' Mage

il

concave mirror ?
(A). ~ Between focus and pole .
Hih ~ (B)  Beyond centre of curvature
(C) I At focus

(D) Between centre of curvature and focus

51, W%W%Wﬁmf?

@ 1 . @B 2
; o /
€ .3 (D) 4

How many laws of refraction of light are there ?
W 1 | B 2
© 3 D) 4

52.’ RReY AT & A T A T Bl & 2

sini
: - (B
sinr

sinr
((A) . sin{
(C) sini + sinr (D) sinixsinr

1 lgi""fﬂ Page 28 0?4?3
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the value of refractive index of a medium ?

Whafc is
B s B B
(C) sini + sinr (D) siqi x sinr
<3 O I &TFCT I S.IL T T ?
| ('B) m

@( cm-!
(D) SHEX
/ .~

(C) cm
What is the S.I. unit of power of lens ?

(A) cm (B) m

(€) cm’ (D)  Dioptre

54. Wﬁﬁﬁaﬂaﬁ?(mmzﬁw%

A . u
A uv i2)

© = D) u+v

-

The magnification ( m) in a concave lens is equal to

(A) uv , (B) u
v .
N :){\

' (D) u-+v

1103-(24/30) | Page 29 of 48




55. R &1 AT AT ¢ 2
‘ A) 142 B 132
(C) 224 (D) 242
What is the refractive index of diamond ?
&) 142 | B) 132
©) 224 | | (b) 2:42
56. U Ted foha Woel @ RRT @l & 2
(A 2 '» B) 3
© 4 o
A prism is bounded by how many surfaces ?
& 2 | - B 3
© 4 - i s (15) 5 |
57. s, R ST 1 STREH-SET gher &, e &
o R ® i
(D) 37aEiqo

The reaction in which jons are exchanged is called

A) displacement

(B) double displac.ement

(C) combination

(D) Precipitation

/ _____ e —— e
T s

Page 30 of 48



61.

62.

E :' .I ‘ [112|‘

Which of the following is a natural indicat}or‘ ?

(A)  Phenolphthalein . . (B)  Turmeric

(C)  Methyl orange (D)  None of these

iferan her &1 T g7 @8 2

(A} NayCO,.7H,0 (B)  Na,CO5.5H,0

(C)  Na,CO5.10H,0 (D)  Na,COz.H,0

What is the chemical formula of washing soda ?

(A)  Na,COa.7H,0 (B) = Na,CO,.5H,0

(C) . Na,COj.10H0 (D)  NayCOz.H,0

Creiee & @ A fo AT § 2
(B) T N
(D) IR 31 R

L

Which of the fo]lowing is a heterogeneous compound ?

(A)  Chalk (B)  Limestone

(C)  Marble (D) Plaster of Paris

—TT [1 103 |
3-(24/30 B
134/20 Page 32 of 48




63.

64,

[112]

' The hardest natural substance is

@ iron (B) gold
(€ silver (D)  diamond

e 3 & A o o e T ) e T £ 2

e page330(48
[1_1()3-(34/3.91‘J

: (A) H*
(B) OH
€ o2- ' ; .
\ D) THIF
hich .
ofthe following ions can turn red litmus paper blue ?
-
(B) OH
9 g
(D)  None of these
Jﬂﬁjq ?T' N '
(A W %
)
" @
o I,
LI FLTh -
X )l'{n of A




66.

67.

e ———

[ 112
Carbon combines with hydrogen to form
(A)  aqua regia "~ (B)  halogen

(C)  hydrocarbon | (D)  ionic compound

IR we UefiET e RO & g o & de & 2
@ 10 B 17

€ 13 D) 3

Boron and aluminium belong to which group of elements in periodic

table ?
(A 10 ' (B) 17
C) 13 | ‘D) 3

qﬁaﬁrtﬁwmﬁﬂmﬁwﬁﬁ% ?

(A) | FHE (B) XA
: : v
() TR (D), TR

Which pigment makes the colour of urine yellow ?
(A)  Chromoplast " (B) Urochrome

(C)  Chloroplast (D)  Leucoplast

o |1103-(24/30) | Page 34 of 48
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(A) T I TR

B Tl Ot e
O TEWET o e |
The tiger is a consumer of
(A)  first trophic leve] B)

- Second trophic leve]

() third trophic leve] (D) none of these

69. T T 1 W ey &

&) BR 3ﬁﬁ§m

B) 5T 5w
© WTSPI Ry (D) Tl gR
Bile juice is §ecreted by
(A)  small intestine - (B) liver
(C)  pancreas (D) ' duodenum

0. ey WWW% UG &
4) gHST HqT S

© s & D) T F K T

1103-(24/30) | Page 35 of 48



The forelimbs of man, cat and bat are

(A)  homologous organ (B) ,. analogous organs

(C)  vestigial organ (D)  none of these

71.  F=ifea € #F gwc\w T IE & ?
&) EEY B Rw
o T D) T R R

Which of the following is an example of regeneration ?

(A) Hydra ' (B) Frog

(®)] Cow (D) None of these

Sy ferlt e Y S G FEed
(a) SHRET (B) iHERT
4/,

() ot s (D) SRR

The genié constitution of an individual organism is called

(A)  genotype . (B) - phenotype
(C)  variation (D)  heredity
T e e —————e . _ -
[] 103-(24/30) Page 36 of 48




74,

digy:

[112 ] |
(A) %ﬁmwm (B) %%\q—qqafmﬁfafm
©)  TosTeh = | D) HowT Fotnres
What is the common name of .CaOCIQ ?
) Calcium ehioge 0ﬁde (B)  Calcium oxy oxide
) Bleaching powder (D) - Calcium chloride
HAEAGE T &
(A) NaC1.+ KIO, | (é) NaCl + KI
© (4 3R (B) I (D) Fﬁ@ﬁ‘s’:’ﬁ
lodized salt s |
(A)  NacCl + KO, (B)  NaCl +KI
(©)  both (A) and (B) (D) none of these |
ﬁmmﬁ 90% Cu &R 10% Sn ¥, sger =7 & | 5
(4)  Hiee | (B)  dicet | |
© v faeR (D) iar

The alloy consisting of 90% Cu and 10% S, js named as

(A)  Solder ’ (B) Brass
(C) Gcrman silver (D) Bronze
— T s




77.

78.

(B) 2

(D) HIE Y T

lllgJ

76. aﬁa@mﬁq%@m%ﬁmﬁ%aﬁa%ﬁmmm%_

How many bonds are there between two atoms of one molecule

oxygen gas ?
@ 1 B) 2

€ 3 (D)  Nobond
TG T T T 2

(A)  ZnO = (B) ZnS.

(©)  ZnCl, D) znso,
What is Philosopher wool ?

(4)  ZnO B ZnS

(@ 2ZnClL, (D)  ZnSO,
3o iy el o Weam ST sheeTd &

) T B | @
(C)~ I D) / e

Page 38 of ¥



79.

80.

[llé]'

The sodium salts of higher fatty acids are called
(A) rubber . (B)  plastic

. -2k (D)  detergent

Srfefiaa o ¥ R GYE 1 W B 2 2

(4) -+ CHO | (B) — COOH

€ >co D) —o-

Which of the following is a symbol of carbonyl group ?
(A) —CHO (B) — COOH

© co o -o-

e i A & w-e i e §

o | B) HIA
) T (D)  FARTEH

Which of the following o'rga‘mic compounds is an alkyne ?

(A)  Ethene (B) Methane

(C) Acetylene . (D) Chloroform

—— 1103_(24/3(), Page 39 of 48
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